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1. 1let x
let y =1+ 2 in

y + 3 in
X %y
g: x
2. let x=7in
let fy=x+yin
let x = 3 in
fx
g: 10
3. let fgx=g (gx)in
f (funy >y * 2) 3
O: 12
oooobooogon
type ’a tree = Leaf of ’a | Node of ’a tree * ’a tree
oboooooboooooaoo
4. Node(Leaf (12 + 3), Leaf 4.5)
g: x

5. let rec f t =
match t with
Leaf x -> x
| Node(l, r) > fr """ "~ f1in
f (Node(Node(Leaf "this", Leaf "a"),
Node(Leaf "is", Leaf "pen")))

O: "pen is a this"
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1+1 = As.Az.ls(lsz)

(
= As.Az.1s((As.Az.52)s2)
—  As.Az.1s((N\z.s2)2)

(

—  As.Az.1s(s2)
= As.Az.(As.Az.82)s(s2)
—  As.Az.(Az.s2)(s2)

—  As.Az.5(sz)

1. (Qzy.xy)y
ogdod:
Az Ayxy)y = Az .zy)y
— Ny

2. (Aa.a)(Ab.b)((Ae.c)(Md.d))
ooo:

(Aa.a)(Ab.b)((Ac.c)(Ad.d)) —  (Ab.D)((Ae.c)(Ad.d))
—  (Ab.b)(Ad.d)

—  Ad.d
3. let is.zero = An.n(Am.false)true in is_zero 2
gdod:
let is_zero = An.n(Am.false)true iniszero 2 = (Ais_zero.is_zero 2)(An.n(Am.false)true)

—  (An.n(Am.false)true)2

—  2(Am.false)true

= (As.A\z.s(sz))(Mm.false)true

—  (Az.(Am.false)((Am.false)z))true
—  (Am.false)((Am.false)true)

— false



goooan

e IVOD 1.0 BODDODOUOOOO0O000O0x*yOyDOlety=1+2in ...0000000000
oooobooog

e IVO 2000000000
o IVO 3. UOxOUODOOOOODODOOODODOODOODODOODOO
o IVO 4. 000000O0DOO

e [IVOS5.00000O0""0DOOOODODOODODOOOMLOODDOD COOOODOOOODODOO
oboooboboooboobxo™x'ooobOOooooooboooooboooboooon

e VO 1.OOOODDOOOO

e VO 200000O00O00ODO
(Aa.a)(Ab.D)((Ac.c)(Ad.d)) —  (Aa.a)((Ae.c)(Ad.d))
ggoobbbtbooooobobobbuoooooobbboboooooobobo

(Aa.a)(Ab.b)((Ae.c)(Ad.d))

((Aa.a)(Ab.b))((Ac.c)(Ad.d))

ogood
(Aa.a)(Ab.b)((Ac.c)(Ad.d)))
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